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a. (2 points) What is the population of a.) USA ~290 Million         b.) China ~1.2 Billion
b. (3) What are three reasons for the growth in international trade?
Better communication

Improved transportation

Standardization

Lower production costs from:


-cheap foreign labor


-increased technology (automation)

Containerization

c. (3) Give the main characteristics of Mass Production.
High volume

Low variety

Specialization of workers

Specialization of equipment

Emphasis on design of product

Lower costs

d. (3) What is the Bullwhip effect?


Small changes in demand becoming amplified as the order moves though the supply chain.

e. (3) What are the causes of the Bullwhip effect?
Information distortion

Poor communication
Forward buying (bulk purchasing)

Demand uncertainty

f. (3) What is Metcalf’s Law?

The usability of a product or network is proportional to the number of users, n, by: n(n-1)
 

as n becomes very large the n(n-1) goes to n2
g. (3) Why are typical supply chains complex?

Many different tiers

Many members are part of other supply chains
Members sometimes operate independently
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